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The Switch Riddle

Switch on switches 1 & 2, wait a 
minute and switch off number 2.

Go upstairs: whichever bulb is on is 
wired to switch 1, whichever is off and 

hot is wired to switch number 2, and 
the third is wired to switch 3.

The Bear Riddle

It all happened on the North Pole. 
When the man shot, he must have 
been right on the North Pole. So, it 

makes sense to assume that the only 
color the bear could be was white. 

Puzzle # 10

The Ticket Queue

From the clues below, can you determine

the order in which they stood in the ticket

queue?

Sam was in front of Sarah. Stuart was behind

Sandra and Sally. Sally was in front of Sharon

and Steve. Sabrina was behind Stuart, Simon

and Steve. Steve was in front of Sabrina,

Simon and Shane. Shane was behind Simon,

Sharon and Sabrina. Sandra was in front of

Sarah. Simon was in front of Sam, Stuart and

Sandra. Sarah was in front of Sharon.

Sabrina was in front of Sam and Shane.

Sarah was behind Sandra, Sally and Sabrina.

Stuart was in front of Sarah. Simon was

behind Sally.


